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&H:_ alics:
560° — 662 —9x— 1 353 + 82 + 40x — 32
Tx+1 Tx—4
183 + 422 + 30x 48x3 — 782 + 15x+ 6
6x 6x—3
56x2 — 73x+ 21 3007 — 4522 + 10x
8x—17 S5x
2122 + 50x + 25 36x3 — 872 + 123x — 54
3x+5 9%—6
18x3 — 672 + 6x + 28 43 — 82 — 39x + 28
2x— 7 x—4
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560° — 662 —9x— 1
Tx+ 1
8% — 2x— 1

18x° + 422% + 30x

6x
3x* + Tx+5

56x2 — 73x+ 21
8x—17
Tx—3

2122 + 50x + 25
3x+5
Tx+5

18x3 — 672 + 6x + 28
2x—7
Ox* — 2x—4

HIZh:

353 + 82 + 40x — 32
Tx—4
5¢% 4+ 4x+ 8

48x3 — 782 + 15x + 6
6x—3
8% — 9x—2

30x° — 45 + 10x

5x
6x> — 9x + 2

36x3 — 872 + 123x — 54
9%—6
4 —Tx+9

43 — 8% —39x + 28
x—4
4 + 8x—7
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